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Question Number : 1 Question Id : 719650321 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

The function /: R >R definedby f(x) = i

M

1+ x°

[iROR, f(x) = ——— P A0IS9DS D300

1+ x°
Options :

surjective but not mjective

RofiRe 5°Q ©I3¥e 52
|, ®
bijective
Lgies Pao0io
2.8
mjective but not surjective
@5550 R éoééo 5000
3.
neither injective nor surjective
O3 I 5760, Dol 5760
4 &

Question Number : 2 Question Id : 719650322 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The set of values of a such that /R — {0, %} defined by

f(x)=Tan™" (x’ +x+a”) is onto is

J, f(x)= Tan™ (x> + x+ % ) P BB Habalo Hoffady ‘@’
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Question Number : 3 Question Id : 719650323 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The expression for @, which satisfies a,=0, a,=land a, =a_, + a_,VneN-{0.1}

from the following 1s

&8 S0l S a, =0, a,=1 HOAW XS neN-{0.} % a, =a, , + a,_, O Y DO

a, Qg S0
Options :

W\E ’ \E :
ESiE e
R

~

T
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Question Number : 4 Question Id : 719650324 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Let B, C be n x n matrices such that A=B + C, BC =CB and C? is a null matrix. Then.
B?2°[B + (2021) C] =

A=B+C,BC=CB 0050 C* ¥rdg Srds eocdigéodw B, C wo n x n Sren. o))t
B2920[B + (2021) C] =

Options :
202
AR5

1. ®

null zero matrix of ordern X n

X 0 DO Erady SrSE

2 R
"M
3.9
MW
Ig-ﬂul
4 8

Question Number : 5 Question Id : 719650325 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If the system of equations | 1 —-a —1| v |= is inconsistent, then a =

l

R KRR
|

Ne0ETER Sges0 WVoMIGD, VYW a =

-

|

R

|

I
RKR K
G v e

Options :
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Question Number : 6 Question Id : 719650326 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

For the system S of linear equations

X 4y + 2 =3 ILTyp-—F=3 X+ptiz=I

the incorrect option among the following statements 1s

X+y+2=3242y—z=3 x+y+Az=1, Qe 080t S350 S § S0 PSS
O RS0
Options :
S has mfinitely many solutions, if 4 = —1
A ==188S § 030 FPLI0T*) 0w
| ®
S has no solution, if 4 = -2
A==288 8PS S
2w
S has no unique solution for any real /4
A CE, 0 RS DS 3T S § DFE PSS S
3.8
S 1s consistent forall 4 € R
A€ R o) dwdws, S Jofiddo
4. v

~

T
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Question Number : 7 Question Id : 719650327 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Let a, b € R and the roots «, B of the equation =* +az +5=0Dbe complex. If the origin.

a and P represent the vertices of an equilateral triangle on the Argand plane. then

a,bER, 2* +az+b=0 JWITFS SFerwn a, f DS G. Sreedoddd) a, b v 8Tk

S0 ¥ VeIV Suhao 30O WP , VR0

Options :

a=b
| ®

a’=3b
2.

a-=4b
3. %

a=3b
4 &

Question Number : 8 Question Id : 719650328 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

. - 7 T .
Assertion (A): If the arguments of Z, and z, are r and — respectively. then
= 5 |
. 27
arg(zi1z2)1s —.
15
_ 7

Reason (R): For any complex number =. arg = = = + arg =

T T . 2
QBYBHIN (A) : Z , 2, © SOLTSENLL ISP ?% wowd, arg(s122) =
i i |
/4
s0eio (R) o) 0088 Jodg = S°, arg T = — targ:z.

The correct option among the following is

&8 $00 DDYFOS HOTVSH
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Options :

(A) 1s true. (R) 1s true and (R) is the correct explanation for (A)

(A) SSgasw, (R) Dgasn 008w (A) § (R) D008 e

1.33

(A) 1s true, (R) 1s true but (R) 1s not the correct explanation for (A)
(A) 3Bgasw. (R) 03w, R (A) § (R) SO e 260

2w

(A) 1s true but (R) 1s false
(A) D830, 5°Q (R) eodbgasn

L.

(A) 1s false but (R) 1s true
(A) 38330, 2 (R) Shgadn

4. %

Question Number : 9 Question Id : 719650329 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If » 1s a complex cube root of unity. then

[l-ﬁf]°“ﬂ“+(1+\/§f

2 2

—

2026
" -y . 37
+ 5111(;(;+(a)(;+(9 );SZJ—

o , DIFRS ¥ oSS LS BruS, el

2026

2020
- 1++/3i ol o e B
2 + Sin + O + @ -
[ > ( 5 (;(J )(J )152]
Options :
-2
1. ¢
2
2.3
-1
3. %
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Question Number : 10 Question Id : 719650330 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

. ’
X . . I a.z a, -+ b, J
Hi et cos30+2cos20+5cos 50 _ 4 T they, \r=0 reo _
3 sin 30 + 2 sin 26 + 5 sin 56 - b - 10
-
r=20
i
I a.z
: 3 cos36+2cos20+5cos 5O etk ™ .
- =e'? ook _ _ _ S WD, B Yo
3sm 30+ 2sm 20+ 5 sin 56 Z b ="
-
r=0

B!

10 10
2% * )b
r=20

=0 _
10
Options :
0
| ®
|
7
o
3.¢
-
3
4 ®

Question Number : 11 Question Id : 719650331 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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The curves y = x?+9x+20 and y=x"+bx+c intersect the X-axis at the points
(ai ,0), (i=L2,3,4).If ¢, <a, < a, <a, be such that ]al —(I3| — ‘az —.111‘ =8, then

the sum of all possible values of » and ¢ 1s

¥ = X1 +9x+20 60N Y=X"+br+c SESwen X-o=d) (@;.0), (i=L 2, 3, 4)
2oV W W0l OW. “-’7‘1 —a3‘ = ‘cxz —(I4| =8 @obgbdn o, <a, < a; <a, ol
O Y b SO ¢ © AOS B VIV AT o

Options :

186

159
2.

Question Number : 12 Question Id : 719650332 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : (

3
X 4ax+3 N L .
If — I takes real values for all real values of x then ¢ lies 1n the mterval
ol =

2 -
X +ax-r2

XX +x+1

X OQ) TS eSS, TP DLV S, ‘d’ &0t oSS0

Options :
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(—2+\/§.2+\E)

(-1, 0)

4 %

Question Number : 13 Question Id : 719650333 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
- " : )
If a, fB, y. 0 are the roots of the equation x*—8x’ +11x*+ 32x—60=0and

a{ﬂ{}f{d,ﬂlell 4a+3ﬁ+2}/+§ -

x4_8x3 +llx3+ 32x—60=10 mg& RDrercen . ﬁ* ¥, O 605w a{ﬁ{}/{é‘_
wond , @YD 4a+3L+2y+8 =

Options :
0
| B
|
2. %
9
3.+
10
4. %

Question Number : 14 Question Id : 719650334 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
If the roots of x* + x' — 4x* + x+1= 0 are diminished by « or £, then the equation

with the diminished roots does not contain x” term. Then 12(a — f)* =

oy
s
_I.,_

*+ x - +1= 0JDETEEAS rerul a S f & Shx), Bhods Sarerwn o
N EGeIoeS ¥ Do Goteld), ®R) M 12({1 —)3)' ==

Options :
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Question Number : 15 Question Id : 719650335 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Five boys and five girls are writing an examination in a hall in which 5 benches are
arranged 1n a row and only two students are to be seated on every bench at either of its
ends. If the seating arrangement is to be such that no two boys or no two girls sit
together as neighbours (a student should not have a student of same gender eirther on

left or right: immediate front or back), then the total number of such arrangements is

5 oy 2Py, 5 & wrOS DOK TP 28 TP 5 20Q0R, DB 200 QO WP Dot
©oue SSuo P DEPZEILD ST EPENIUr a8 SEIS BDTEYO. &) HHL e
Swr erOf SO0 FENS SrE )30om (2 T30 NENIRDS R, NEIDS TR, Jolos
JSEPR, SSNVPR, & DotifnSH Wolds Dw°gd EPC YS00te) Goler @008 WOIPgwedl,
U WOV ol Doy

Options :

28800

1.

14400

~

T
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Question Number : 16 Question Id : 719650336 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Let x denote the number of ways of selecting at least one ball from a bag containing 3
identical red balls, 4 i1dentical blue balls and 5 1dentical green balls. Let v denote the
number of ways m which a student will fail in an examination. when he has to write the

examination in 5 different subjects. Then x + v =

3 208 DT P 2o, 4 23 AW Ao WL, 5 8l VWS Dby oL o el
0o o6 EDo 2 200D WoERN DTPTL :303‘.3‘8 x @86, 5 538:):5;; onodross’ H6X
PO AErgd, DOES BN VTPTL oy ¥ NS oG, WYY X + ¥ =

Options :

150
[

301

Question Number : 17 Question Id : 719650337 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

.I. . . 10 . .
For |x‘-:: =, if the coefficient of x and the constant term in the expansion of

d—

2x° +8x“ —2x—2

{1—x)(1+2)(1—2x)

in powers of x are / and m respectively, then 7/m =

1 5 i DR gt 0%-2
|r‘{—§,x APTPLS _
2 (1—=x)(1+x)(1—2x)

SOVP [, m wownd, e Im=

Iy, ARTES” X7 toeaSo SOOKN JS Ve

~

T
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Options :

6(1+2°)
1. ®

4(1+2°)
2 &

6(1+2%)
3.8

4(1+2")
4 B

Question Number : 18 Question Id : 719650338 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

" : _ " 1 1024 1024 :
The number of wrrational terms 1 the expansion of (5% + 7% ) - (S% _74 ) 1S

(5% +7%)" +(5%-7%)" sxgoees seboss dame omg

Options :

896

1. ®

129
2%

513
3

384
4.

Question Number : 19 Question Id : 719650339 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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4
i ¥ +3x+1 - C i D 5 E

(x+1)"(x-1) x+l (x+1)  x-1

Then A+B+C+D+E=

- >
X +;1I+l gy B D.j_{. E STWERONES
A+B+C+D+E=
Options :
2
2
| ®
i
e 2
5
3
3. ¥
0
4 %

Question Number : 20 Question Id : 719650340 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : (

If & is a root of the equation 25 cos* @+ 5 cos 8 —12 =0, for — < & < r, then sin 20=

DA

<a<m §25¢c0520 + 5 cos 0 —12 =0 HNEGEPIE a 28 Srwdone, 5) )0

o | =

sin 20=

Options :

£

-

5
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25
2.¢

—4

25
3 ®

—13

18
4 %

Question Number : 21 Question Id : 719650341 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

1
2

If sin 20 + s 2@ and cos 20 + cos 2¢ = — . then cos” (0—¢@) =

2 | W

. . 1 , 3
sin 20 +sm 2@ = r O03W cos 20 + cos 29 = = VOND, WY\ cos* (B—@) =
Options :
3
.
|, %
5
8
2.
3
4
3.8
5
4
4 ®

Question Number : 22 Question Id : 719650342 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

collegedunia:s

India’s largest Student Review Platform




If tana=2sin f siny cosec(S+y), then

tancr=2sin f siny cosec(f+y) ©owd, w &
Options :
cot S, cot . cot ¥ are in harmonic progression

cot 3, cotax,cot y e (906 IGS &o°) oW

| B
tan ¥, tana, tan £ are m harmonic progression
tany, tane, tan B e 08 3GS aTe) oW

2.0
cot &, cot S, cot ¥ are in arithmetic progression
cota, cot 3, cot 7 e ®of S &v°) oW

3 R
tana. tan . tan y are i arithmetic progression
tana, tan g, tany ev ©of 3GE ey oW

4, ®

Question Number : 23 Question Id : 719650343 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The number of real roots of the equation sin®®® xy—cos™® v+2019=2020 in the

. 37 Sm
mterval [——. J
s Al

02 02 v ..ﬂ 5/' " -
sin?®® x—cos™ x+2019=2020 JNESEEDS ( —%. ; ] oS00SS (IO TPW® PO
cﬁoa)rs
Options :
1
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tad

2. ¢

th

mfiitely many

930930

4 %

Question Number : 24 Question Id : 719650344 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Consider the statements:

(I): If f7x) =sin(Cot™* (cos(Tan™ x))), then £ (0) = %
. 2 -1 I =1 1
(ID): 5111[4 Tan™ ——Tan —]:1
5 239

QSR WOEdodole

(I): fix)=sin(Cot™" (cos(Tan™ x))) ®owd, @Y & (0) =

19 | =

. . 1 1
(IT): sin ( 4 Tan™"' ——Tan™ 1=l
5 239 .
Then the correct option among the following is

8ol IS KD W YZe

Options :

Both I and IT are false
I 08050 II oty 00

1. ¢

Both I and II are true
I 5080k I Sotey O30

~

T
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1 1s true. but II i1s false

I 5@50. se 11 @KJ@SO

I 1s false. but II 1s true

[ 0¢850, 0 11 Hedg0

Question Number : 25 Question Id : 719650345 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

If v=Sech™ —+Tan h :

) then cos hx =

21 g1 .
x=Sech 1;+Tan h 1? oD, YW cos hx =
Options :
5v3+4
3
. *

28
443 +3
3
3.9
43-3
3
_1“3'6

Question Number : 26 Question Id : 719650346 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Correct Marks : 1 Wrong Marks : 0

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
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In AABC.If a® —¢* = b(b-w)q\/i_n:Zb&c andRz—L then b =

J3

AABC & a*—c*=b(b—c),\[2a=2b—c 6050 R=

Options :

=

S5

|, #
J3-1
J6
2,33
V3 +1
/6
3.¢
V3
J2
4, 8

Question Number : 27 Question Id : 719650347 Question Type : MCQ Option Shuffling : Yes Display Question Number

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

4

a  +b°

4

If A ABC is a non isosceles triangle and |C=90°. then ——— sin(A-B)=
R
2 2
" L o 0 "> s ﬂu +b.-
A ABC 28 a2 0 Badede, [C=90" ©90wd, @& ———

a_.._

Options :
. B
1. ¢
2
7.8
0
3 W

1
—= ©OW
NE

sin(A—B)=

b

: Yes Is
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Question Number : 28 Question 1d : 719650348 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : (

. , A > B 5 €
In any triangle ABC, cos” — 08" —+cos”

s o

) Sehaso ABC S'Fwe, cos’ é+c052§

Options :

1+£
ﬁ R
|, %
b B
- 2R
2L1+L]
4R
3.v
=
z(H*_J
2R
4 % '

Question Number : 29 Question Id : 719650349 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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In A ABC, the pomts P, Q, R divide BC, CA, ABmtheratio3:4, 2:5, 9:5,

respectively and the point D divides BC 1n the ratio 2 : 3 If AP+BQ+CR =kAD,

then (14k+1): (14k—-1)=

A ABC &, Qol0eden P.Q,R <0 BC, CA, AB 02 S63rr 3 : 4, 2:5, 9:5 Qyod
otrow, D Dotded BC 02 : 3 903 wo6ed. If AP+BQ+CR =kAD wond,
@ (14k+1): (14k—-1)=

Options :

19
1. ®

4:3
2B

47 5
3 »

3 12
4 &

Question Number : 30 Question Id : 719650350 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
IfA(1.1,2).B (4. 2, 1)and C (2. 3, 5) are the vertices of a triangle, then a vector

representing the median of the triangle through A 1s

A(1,1,2),B(4,2.1) 06050 C (2, 3, 5) w a¥ Sabazo 30°00nd, & Saerds A (oo
PO S0E3(IEY T JPRow 2 D&

Options :
3i +47 +5k
|, %
- 3t =
(1+2¢)i +[1+%];+(2+r)1‘
2.V )

gcollegeduniaa
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2t + (Tt-1)j+5 k

76T +6f + 4k

4.5‘

Question Number : 31 Question Id : 719650351 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks :

If the shortest distance between the lines 7 =(37 +47 -2k )+#(—7 +27+ k) and
7 =(7 =77 —2k)+s(7 + 37 +2k ) is equivalent to projection of P=-27 +117 on Q

. then a possible vector Q is

T=(37+4j -2k )+1(—7 +2j+ k) 000 7=(7 -7 -2k )+s(7 +3j +2k ) Sao

g 50 &rds, Q D P=-27 +117 288 Sogd, Q U0 0O

af &
il

Options :

i+57-3k
| B

51 — 745k
7R

i+37+5k
3.+

31 +57 -k
4. %

Question Number : 32 Question Id : 719650352 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
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The vector equation of the plane containing the lines ;:(f +})+r(?+2}—f) and

r :(§+})+3(—;+}—2E)is

;:(§+})+r(§+2}—}],;:(§+}:)+s(—§+}—2§) SDUD OB G0l Boo DOFT
e E0g0

Options :

r. n=3, where n=i—3j-2k

r.n=3, n=i—3j-2k ©00SR&

| &
r.n=1 where n=i—j+2k
r.n=1 n=i-j+2k ORI Yo
7R
r.n=0, where n=i—j—k
r.n=0, ;:;—}—E WO Yo
3. ¢
r.n=2, where n=i—j—k
r.n=2, n=i—j—k ©on3HYD
4 8

Question Number : 33 Question Id : 719650353 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Let a=i—2j+3k and b =2i+ j + k.If ¢ is a unit vector such that [E b c]
is maximum, then ¢ =

a= i-2j+3k 00 b =2i+j+ k @Dl [a b c| BopSchEn ¢ 8l

~

T

O H0Y wond, @YW ¢ =

Options :

collegedunia:s

India’s largest Student Review Platform




R
2i— j—k
J6
2.8
2i— j+3k
iz
3. %
i+j-2k
J6
4 ®

Question Number : 34 Question Id : 719650354 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

The shortest distance between the skew lines

£-2 ¥-3 Z+45 =1 942 z-—4
| -2 1 aud —1 3 2 iS
x—2 v—-3 z+5 x—1 y+2 =z-4
LTS WL EE i N Talorty — =
- 1 -2 | | 3 2

| ®
21
59
28
31
59
3.V

© Sy R BPSo

~

T

collegedunia:s

India’s largest Student Review Platform



Question Number : 35 Question Id : 719650355 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The mean deviation from the arithmetic mean of the discrete data

2,7,5,6,4,3,11, 17,818

OCP0d02.7.5.6.4.3.11.17. 8 § 0908 0&galo adod s0Egedd Do

Options :
17
2
| ®
10
3
2.v
37
. &
j. =
9
4 ®

Question Number : 36 Question Id : 719650356 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : (

The variance of the following frequency distribution 1s

$0l FDYNg VETRTVS VYYD

Class Interval

€5009e3 90200

0-6 6-12 | 12-18 18 -24 24 -30

Frequency

3]":53:@(550

10 8 6 4

2

Options :
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1. v

30
2.0

|
3 %

20
4 %

Question Number : 37 Question Id : 719650357 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

. T~
If A, B, C are three events of a sample space such that P(B)=;P(A)and

1 . . -
P(C)=5P(B) then which of the following is correct

P(A) 6050 P(C)=~P(B) ecigioin 3

9,
ys

A, B, C w, ¥ o0 widas P(B)=

-.J'|LJJ

D0OSTS, Y& &2 §o& TS & Vg

Options :

P(AwC)=— when A, B, C are exhaustive and mutually exclusive events

13
7
P(AU C)=1—_“ A, B, C w0 S 0050 0800 050 DocoiSSey) yoe
3 : X
1.v
10 ) :
Tha P(BuUC) <1 when A, B, C are exclusive events
10 | v Vis |
T P(BUC) <1, A, B, Cw 808 HoadO5e) )6
2. & -
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7 .
P ( & ) =~F when A. B. C are exhaustive events
2

P(C)=—=, A, B, C t Zr SobosOs i

P(AUBULC)=P(A)P(B)P(C)

Question Number : 38 Question Id : 719650358 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

: . : |
E:1 and E» are two independent events of a random experiment with P(E;) = = and

2
P(E;w E2) = —. Then match the items of List - I with those of List — II
S
3
E1 ,E2 o0 208 O3r@yR)8 0airiied’, P(E1) = % P(E1UEz) = — ™ &), Dot 039ed
v D

DS, QYW T — [ S e arder— I S'Q rde” ' Godols

List — I List —1II

eree® — 1 ere@— 11
A)  P(E)= D %4
B) P(E|E,)= m ¥
C) P(E|E)= 1) %
D) P(EVE,)= vy Y

The correct match 1s

POV 2
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Options :

A
I
1. ®
A
2. v
A
I1I
1 B
A
I\l.?
4 ®

11

co

I11

I\.T

Question Number : 39 Question Id : 719650359 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

If E; and E; are two events of the sample space such that P(E;) = 1 P(E/E2) =

|
and P(E»/ E1) = 5 then P(E,/E,)=

P(E:1) = 2’ P(EvE2) = - woaiw P(E2/ E1) =

Cota) WLICL, W P(E, /E,)=

Options :
2
15
| ®
|
10
2.8

L

1o | =

Ggew, E1, Ez 0 300 wddnd
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3. ¢

-
iy

10

Question Number : 40 Question Id : 719650360 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks :

A random experiment i1s conducted five times. If the number of successes of the

experiment follows binomial distribution such that the difference of mean and variance

i i : :
of the successes 1s —. then the probability of getting atmost two successes is

al OEPE YD POIFISD 5L 2EHNEID. & HOIPHSD Y VPO Doy BIVS

o O .
DEPRTRV) PEW® VDL BoSaldgein O IV 25 Bie = VOB, ¥ VCIr(le

o300T® oW Todsy P VoL @cﬁ;g NoeTdgS

™

Options :
i
81
. ¢
34
243
7 R
17
81
3 %
211
L x 243

Question Number : 41 Question Id : 719650361 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
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If a random variable X follows the Poisson distribution with variance 3. then P (X =1)

1s maximum. when r =

w8 ArdyRy8 Soord X, gy 3 &5 PONEN VPR BRIOW, BY YW, P (X =

I) fﬁf}%}o aoll, 1=

Options :

0
] ®

1
7 %

2
3. ¢

4
4 R

Question Number : 42 Question Id : 719650362 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

For a real variable a > 1. consider the points Ax = (ka. a*). k= 1. 2. .... n in the Cartesian

plane. If a and S represent respectively the arithmetic mean of x-coordinates and the

geometric mean of y coordinates of A, then the locus of the point P(a, f) is

28 RS WOoEB a > 1 §, TOVONS B DotHew Ak = (ka. a¥). k=1,2. ... n
L0(EITPo. Ak © IS X ACFITL WS DWZVe DO ¥ ACFITL (s DEgI"e
SODTP @ DO B Lo, P(a. f) Dolied)s dolndde

211
2xﬂ‘+
”J*:_
n

Options :

~

T
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y=n+)(x—(n+1))

Question Number : 43 Question Id : 719650363 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : (0

By shifting the origin to the point (2, 3) and then rotating the coordinate axes through

an angle 6 i the counter clockwise direction, if the equation

[ ]

3x" +2xv+ 3y —18x—22y+50=0 is transformed to 4X*>+2Y>-1=0, then the

angle 6 =

SPL ol (2, 3) Dot W0y, AOrITEPONL O §'ca0ed” @&ﬁég&%ﬁf’ & eEIO
WO 3x* +2xy+397—18x—22v+50=0 DSt 4X*+2Y  —1=0, § Srarothlo
wWol , ) )0ed §c0 6 =

Options :
-
6
| ®
T
2
2.8
T
4
3. v
e
3
4 ®

Question Number : 44 Question Id : 719650364 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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A straight line L = 0 passing through the point A = (=5, —4) and having slope tan 6

meets the lines x+3y+2=0 and 2x+ y+4 = 0respectively at the points B and C. If

100 225 . ; ; :
- — —— = 4c0s20+sin 20, then the slope of the line L=0 is
AC” AB°

A = (-5, —4) oz FEr tan 0 P §OO &Sy VO S L =0, x+3y+2=0,

2x+y+4 =0 93 36 oD S60r B, C o S8 Seood.

100 225 .
5y — ——5 = 4€0520+5in 26, 0w, @ L=0 § rew
AC” AB°

Options :

w‘tL} W | 1o

I
oL

3 ¢

b | =

Question Number : 45 Question Id : 719650365 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The equations of the sides AB. AC and BC of a A ABC are respectively x—3y=0.
3x—v=0.x+v+4=0. If P and Q are the points on the line 3x-y+k =0passing

through B such that PB: BQ=1: 1 thenk =

2.8 Sedezo ABC adezren AB. AC 0050 BC & J0080eren SO0 x—3y=0.3x~y =0
NOA ¥+ ¥+4=0.B (Do ¥F&P 3x—y+k =002 P, Qww PB:BQ=1: 1 &clger
200tHLONS, WYY k =

Options :

~

T
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| ¢

12

-8
3, ®

—-12
4 B

Question Number : 46 Question Id : 719650366 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Let A(1,1).B(1.—=1),C (—1, 1) be the vertices of AABC. Let S be the circum-centre,

O be the orthocentre and I be the incentre of the AABC. Then IS + OS =

AABC soew A (1, 1), B(1, —1), C (=1, 1) 9086, AABC 8§, S $0%00, O oo,

I @o@égoéa NS 6. @@QC@J IS+0S=

Options :
4
| %
2
o

Question Number : 47 Question Id : 719650367 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
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If one of the pair of lines 4x” +6xy+ky” =0 is perpendicular to one of the lines

represented by 3x* —5xy+2y” =0, then twice the absolute difference of such possible

values of k 1s

4 +6xy+ky”’ =0 Oaroluiiyoss” 288, 3x* —5xp+2y" =0 JPDew FpUS &l TS
©0200P &old, Wt LAY K Jewde DB Arerg 23ee08 Bélos) DS

Options :

4
1.¢

8
7 B

90
3 ®

12
4 ®

Question Number : 48 Question Id : 719650368 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : (

The difference of the tangents of the angles which the lines

3 , 2 . b : . yiesia
(tan"a + cos” @ ) x° —2xytan o +(sin° @) v> = 0 make with the X - axis is

(tan’a+ cos” @ ) x° —2xytan a +(sin’ @) y° = 0 S X — oS I Serv

drodBotdeo Jﬁ)dﬁg 2380

Options :
1
2
1. ®
1
7 %
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3.¢
V3-1
2
4 R

Question Number : 49 Question Id : 719650369 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
_ _ /4
If A(—1. 3) and B(5. 3) are points on a circle C and the chord AB subtends an angle —

at a point P on C, then the equation of such a circle C is

A(—1, 3) 56050 B(5, 3) w0 S8 C 2 DolaHen O arg AB, C 2 2.8 Dol P
538 ";I{' S0 0B, SOV, Bl 28 SyBo C DESH0

Options :

X+ —4x+12y+22=0

x +y —4x—12yp+22=0

2. v
2 2
x*+y —4dx—-12y—-22=90
3w
~_ 2 -_ 2 s P -
3x"+3y" -12x-36y—-66=0
4 ®

Question Number : 50 Question Id : 719650370 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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The mid point of the chord of the circle x* +1* —6x+4y—12=0 drawn parallel to the

tangent at (—1. 1) and at a distance of one unit from the tangent is

X437 —6x+4y-12=0 Sydho D (L (-1, 1) 2otidad) S HAS DYG0H DSFoSorr,
28 P& Srdess’ G 9) &g ::Dég AITANINY

Options :

53

], ®
3
4’ 4
2. %
-1 2
T
3.¢
3 2
3
4, ® '

Question Number : 51 Question Id : 719650371 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If the angle between the pair of tangents drawn to the circle x* +y* — 2x+4y+3=0

from (6. —5) 1s 6. then tan 6 =

X417 - 2x+4y+3=0 S8 (6, —5) Dow HDS DG 0arAije HdgS’we 6
WOND, ©Y G tan B =

Options :
S
8
1. ®
15
8
7w

~

T
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15
3¢

19

8
4 %

Question Number : 52 Question Id : 719650372 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

ri. 12 > 0 and 1f Cy. C; are centres of the two circles having only two common tangents

and C;C> = 11+ 12, then which of the following 1s correct

Oole Toled @adyl 000N (1L Toled ST Sogrew (1, C2 w0 O Ci1C2 =11+ 12,
1, 12 > 0 09008, Y& §o& FAS" & He5gw
Options :
11, 12 are the radi of the two circles
I1, 12 Q0 OoGed & )T TP gPToR
| %
The common chord may divide the line joining the centres in the ratio r;: 12

SowroR SOV @G 2y I1: 12 AT Defazovddud)

2.«
11, 12 are always the distances of the centres from the common tangent of the
two circles
I1, T2 &0, DRI Soll) TP el G 00008 Somre sdow (o &roren
3 ®
external centre of similitude divides C1C> in the ratio 11: 12
C1C2 Q SOFr® erarg goéo I1: 2 Q) S 20oGrvol
4, %

Question Number : 53 Question Id : 719650373 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

T
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Correct Marks : 1 Wrong Marks : 0
Let S=x*+y"-6x—6y+4=0 and S'= x*+y*—2x—-4y+3 =0be two circles. The

centre of a circle of radius /14 and having same radical axis with either of S=0or

$' =01

S=x"+3"-6x-6y+4=0 DOAWS = x"+1"-2x—4y+3 =0 w0 Dot Sy e.
S=0 S §' =0 o BAS'IT° &d SoPerEo 500 o V14 &) Sy oo

Options :

(3.3)

Question Number : 54 Question Id : 719650374 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If y=mx+c is a common tangent to the parabola y*=4.k x and the circle

2x” + 2y* = k then the product of the slopes of such common tangents is

YV =4Jk x HoeS0air8, 257+ 237 = & SyerR8 y=mx+c af &6 0380w
VOWD, WEWSE &G 0T VBL TFVL Lao
Options :

-
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Question Number : 55 Question Id : 719650375 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If a normal to the parabola y* = 12 x at A(3. —6) cuts the parabola again at P, then the

equation of the tangent at P 1s

¥ = 12x D0cS00irds A3, —6) S8 @) wotvo, DTS00 Sber P I8 o, P
56 0G0 DETeao

Options :

x—3y+27=0

1.

x+y=45
2. %

y—x+9=0
3, ®

3Ix+y=99
4 8

Question Number : 56 Question Id : 719650376 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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For k > 0, the shortest distance from a pomt P (1. k) on the ellipse

9x* + 4v? —18x+16v—11=0 to one of its directrix is

k>08 9x*+ 4y’ —18x+16y-11=0 &gége_ﬁ;o 2 20009 P (1. k) o wrd 0
S eu8wrds S &rdo

Options :

3-45

|, ®
3+\E
glﬁ
9
—=—3
Jg
3. &
9
oy
\E 2
4 %

Question Number : 57 Question Id : 719650377 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

7 9

—_

j ; " Y ” : Y
A tangent drawn at a point on the ellipse 7_ﬁ+i_6:l cuts the X- axis at a pomnt A. If

A" be the image of A with respect to the line v =x. then the circle with A A"as its

diameter passes through the fixed point

%+;—6 =1 BOSYTPD8, tE Dolidd $6 B V30308 X-039), A Dolided) S0 Wotined.

y=x, 0 GPg A 2 Dozo A" wowd, AA" glorP o Syo A Y Doddded)

Options :

~

T
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(0.—4)

(0.4)
(0.0)
(L)

Question Number : 58 Question Id : 719650378 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Let P ( asecH, btanB) and Q ( a sec¢. b tang) be two points such that 6 +¢=

b | N

2 2
on the hyperbola —,,—;—2 = 1. If (h, k) 1s the point of imntersection of the normals at P
7

and Q, then k=

b2
[

P (asech, btanB) and Q (a secd, btang)ww O+9=— ©cbgtodw ~—= ]

| N
:‘::Nl
S

OBTSLONR Told Wola)n. P, Q © & ezdvoe S0 wokad 2otdey) (h, k) oW,
k —

Options :
3 %
a +b”
a
1. ®
¢ 2
a +b”
a
2B
a°4-b°
b
3 %

~

T
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a’+b*
4 o

Question Number : 59 Question Id : 719650379 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Let ABCD be a tetrahedron in which the coordinates of each of its vertices are
arithmetic progression. If the centroid G of the tetrahedron 1s (2. 3. k) then the distance

of G from the origin is

OO 050 I AEFHTL ©ofFIS’ Gotitotn ABCD &l Sendin®d @8 emw.
58080380 Soeo G (2, 3, k) ©0nd, dreumlode) Db G § do Erdo

Options :
38
|, ®
7
P
22
3. %
29
4. ¢

Question Number : 60 Question Id : 719650380 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The angle between the lines whose direction ratios satisfy the equations

I+m+n=0and > =m’>+ n’ is

I+m+n=000050 F=m+ n° 258D BHn V6D &S Dowgew (L S W3
§6 gdo

Options :

o N
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G |

2.

T

4
3,.3-6

8
4 ® 6

Question Number : 61 Question Id : 719650381 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A plane II 1s passing through the points A=(0.0.2).B=(1.0.1)and C=(3, 1. 1). If

the plane II makes angles aand /£ with the XY- and XZ- coordinate planes respectively,

: ¥ . 2
then sin"a+ s g =

Soo I A=(0,0,2),B=(1,0,1) S0akw C=(3, 1, 1) Qoledo Vot Fnod. &
Swo [ XY-000w XZ-d0rdf derwdd” S0P a, f S W, )W

i,y . 0
s a+ sm-fg =

Options :
7
6
1.
3
2. % 6
0
3. %
l
4, %

Question Number : 62 Question Id : 719650382 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
gcollegedunlas
India’s largest Student Review Platform

Correct Marks : 1 Wrong Marks : 0



2
e

| - =
x—0 ;s X -
S —— BiE
LA l+x°

Options :

| B
0
7 %
|
3.V
-
NGy
4 %

Question Number : 63 Question Id : 719650383 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

log(2+x)—x""sinx Bl o
< s

If f(x)=hm

o xeR  thenatx=1, f(x) is
n—x + x'

NN

log(2+x)—x""sinx T
2 ) . = A'E;.A'ER , O, VY X =1 $&

f(x)=lim =

s 1+x2

f(x)

Options :

differentiable
NS0 v Te!

discontinuous
o'd\b‘) o ).©

2.
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continuous

o ’_)rS ).°
3.8
continuous but not differentiable
SEORVARMTRSIN ISV OV IRSIAY
4. % '

Question Number : 64 Question Id : 719650384 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

(x+1)sinh x - f (x) _ 1

If f(x)= 7 +coth x + g(x), then g(x) =

e” tanx fix) x¥l
(x+1)smh x f'(x) G
XF—— NVeToWVIE = +cothx + g(x), ®oND, WY\ g(x)=
/() e” tan x fixy x¥l M )@ g(x)

Options :

—2+— 1
SII1 ¥ COS X
1. ®
2 — 2 cosec 2x
2. %
—2(1+cosec2x)
3.9
2—— :
SIN X COS X
4. %

Question Number : 65 Question Id : 719650385 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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, ’ g sinx | dy
If x” = ™ (tanx)™ ", then [logx— J:? -
y Jdx

, N x COsSX sinx | dy
x¥ = " (tanx) T evowd, oy | logx— L
y Jdx
Options :
. y
cos x log y — sinx log (tanx) + cosecxy ——
X
], ¢
cos x log y—sin x log(tanx)+cos” x cosecx ——
| X
7R
COSX .
— SIN"X $Sec x
x
3, ®
cos X — x sin’ x sec x
4 ®

Question Number : 66 Question Id : 719650386 Question Type : MCQ Option Shuffling : Yes Display Question Number
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : (

(]

If V1—x* +4/1—-y =a(x—y), then (l—xz)“jf:#_r[l—xz) .
% X
VI-x? +4/1-3* =a(x—y) vond, W) )Ged (l—rz)z j‘fﬁv(l—x:) j—] =
X X
Options :
0
1%
(1= y*)
2.v

: Yes Is
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y(1—x7)

\/lv-:t:2 \/l—_l’l

Question Number : 67 Question Id : 719650387 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The perpendicular distance from the origin to the normal drawn at any point on the

curve x=a(cosO+0sm0), y=a(smo—-0cos0) is

x=a(cos0+0sin0), y=a(sin0—0cos B) S¥o D o Dotded) & S HRS VEETRS

L,

aAP LoD o Loty rdo
Options :
af
1. ®
2
a
7
a
T
a
T
4 %
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If the semi vertical angle of a cone is 45° and its height is 20.025 cm, then the

approximate value of its curved surface area (in sq.cm) 1s

a8 408059 B0°ES w0 45° 500050 @°Q I 20.025 o. D WOND T SEBL JPrgRS
(5. Vo, D OF) -GEPONOR) VP

Options :

10172
™ 4

4012

2. ® %
10173
1 ®
(401.2)7
4 R

Question Number : 69 Question Id : 719650389 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If the Rolle’s theorem holds for the function f(x)=x"+ ax’+ bx, in =1 <x <1,

and f'(%]:(). then ab =
f(x):x4+ ax’ + bx é&ﬁadﬁ"rﬁé —-1<x<1&6S RJES"Q@O S0X SOALW f'(%}:o

©owed, ab =

Options :

—4

~

T
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Question Number : 70 Question Id : 719650390 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

i - " ) ;
The minimum value of the function f(x)=2x"—/n x| ,When x =1 1s

f(x)=2x"-In .1‘| , X2 1 090058 )6 DI0ALPRS SR DL

2

2.¢

Question Number : 71 Question Id : 719650391 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If | L
(x + l)\/.:t:3 +xT+x

= f(x) + C ®ond, oy f(1)=

J- (x—1) dx

(x l)\/x3 +x+x

Options :
T
4
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2|y

2. ®

21

3
3. ¢

5wt
4, ® 6

Question Number : 72 Question Id : 719650392 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :

If i dx= %Sinh'1 (f(x))+C then 21 (x)

J4Sin? x +4sin x+ 5 Z

J- COS ¥
J4Sin? x+4sin x+5

dxz%Sinh_l(f(x)HC WOWD, YW 21 (x)

Options :

1 + sinx
| ®
2smx + 1
R 4
4smx + 1
- o
2smx—sm 4x+2
4 %
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( COS

x—2smx

If j

bsinx+5cosx

dx

then I

b+ acos x

acosx—2sinx

J

&) )0 I

Options :

W |

bsinx+5cosx

dx

7
41

7 22

dx=—x+—

41 41

b+ acos x

f
X
Jtan—+ 4 -
2

—

b
-
V3

+C

2 &

2Sinh™

Tan™

3tan
\

-

%-1— 4+43

/

+ C

+C

+ C

22

dx=—x+—
41

log|bsinx+35cosx|+C.(a>0,b>0)

log| bsinx+5cosx| +C.(a>0,b>0) wond,

Question Number : 74 Question Id : 719650394 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1

Wrong Marks : 0
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9 ? il 4
5 s 2" +3x+4 dx=f(x). V2x" +3x +4 + A Sinh 3 + C . then
If [(3x+2)V2x* +3x+4 de=F(x). V2¢° +3x +4 + A Sinh™ =

the ordered pair (f(1), A) =

I(3a +2 \/_x +3x+4 dx=Ff(x). 'Jlx' +3x+4 + ASmmh™ (

R Eoutye (F(1), A) =

Options :

(73 23 }
8 6442

(49 23 }
3271642

4 ®
Question Number : 75 Question Id : 719650395 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

dx . then

IfInzjm

uq

I dx ©oNd, W L
0 ﬂ’ —T 14

Options :
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35a
1. ®

35

48
1.4

72
3

2

56
4 %

Question Number : 76 Question Id : 719650396 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

f ¥ (25 oy )E ax-=
-5
Options :
5
3 2
| B
16(5”)
63
2 Y
3(5")
b
256
3
16(5")
693
4. %

Question Number : 77 Question Id : 719650397 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Correct Marks : 1 Wrong Marks : 0

x|=2.|y|=2and xv < L
)

The area (in square units) bounded by the curves

%] =2,|3| =2 S8050 1v < — Spues® wsichy Jroge (B, Craes)

b9 | =

Options :

9+ 3log?2
. v

3+log?2
7R

2+log 3
31 B

Question Number : 78 Question Id : 719650398 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The differential equation of which x y = ae* +be™ +x” is a solution, is

xy=ae* +be”* +x° 2 PO (0 S8 DdESeo

Options :

.
xy"-2y"+xy+x" -2=0

. %
3
xy'+2y' —x+x"+2=0
2. %
" ’ 2
xy +2y—ytx ~2=10
3, ®
3" +2y —xy+x* —2=0
4.
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Question Number : 79 Question Id : 719650399 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Correct Marks : 1 Wrong Marks : 0

. - . .y FxHlvEI .
The general solution of the differential equation Y = / 1S

dx 3x+5y+9

L TV IR e BBy SR Mol S8
Options :

(x-3)'(y—x+3)*=e(Sy+x-3)°

1. ®
(x+3)' (v—x-3)'=c(5y+x+3)
2
(J‘—x+3)4=c‘5y+x—3|
i
(_1’—A‘+3)4=c|5y+x+3
4 &

Question Number : 80 Question Id : 719650400 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
If the solution of the differential equation xy'=y + x°sinx subject to the condition

v(m)=01is y=f(x)and f(x)has an extreme value at x = « then

955U DWEGEI0 X1 =¥ + X sinx § ¥(7) = 0 QOVSETIS S'20b Ferdes F&S ¥ = f(x)
@HEF f(X) § x = o I& 0G0 Ded &old, Y Y

Options :

o cos o+ 2

T _
a':(Qn—l)?~ ne-_
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Question Number : 81 Question Id : 719650401 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The dominant force experienced by an electron moving in a wire 1s

208 SHES” DSEPoW WOFPID S’ S03g DLW WLV

Options :
Gravitational
Sodoes N 205D
| ®
Electromagnetic
SIAVIIA WD RE NS
2.

Strong nuclear

N DINVMELALEN LY
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weak nuclear

200 (C0TN©) Sogds aeren

4 %

Question Number : 82 Question Id : 719650402 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If absolute error 1s 0.05 m for a measured length of 5Sm. What 1s the percentage error?

5 m 650 Fréad) FOBS" SN DT GBS 0.05 M WOWSD GNFPBBN oo

Options :

1 %

Question Number : 83 Question Id : 719650403 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :

The position of an object moving along x- axis 1s given by x=a+ f t* where a and f
are constants with appropriate dimensions and t 1s tune i seconds. The average

velocity between t = 2s and 4s 1s 12 m/s. If & = 8m then the value of £ 1s

t Q. SPOSNS X-09¥0 Jo2obe Wowd 2u¥ S0 AINE). PISND X =a + f e BIWEID.
BONE & SOOI B 0 T°¢38 3P0 TGP WL SDaHT?) ON. SPOSW t = 2s
200050 4s © g DTZO0 adein 12 m/s. a = 8m WOND f Hes

Options :

0.5 m/s’
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2 m/s?

2
"
4 m/s-

3. ®
o
5 m/s-

4 %

Question Number : 84 Question Id : 719650404 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Two buses A and B are moving m opposite direction. Now if the first bus A moves

towards east with a speed of 36 Km/h and bus B moves towards west with a speed of

18 Kmv/h then the bus B appears to A as

A 300050 B @ Totid 200)0 aBtPOSSEES S3e30808eS” SO0®) 0. o306E 200y A
36 Km/h o3t5e500e8” Sr80yaddso SO0 200y B 18 Km/h a3tieioned” DHEdy o380

OB, R 8%0) B 05050 20303 A 50 88 §ob HEI0P ED000B.

Options :
moving with a speed of 5 m/s from east to west
5 m/s 3tieSned” Srdny ok DHESEHL EeeS) €

| ®

moving with a speed of 15 m/s from west to east

15 m/s S3t8wes” DS hols Srdyy FB0 Soeneid) ¢
2.8

moving with a speed of 15 m/s from east to west

15 m/s JSriained” rduy ok DEOEHL Eoeneiusd) &u
LW

moving with a speed of 10 m/s from east to west

10 m/s o3tadned” Srdoy ol DEDBH SLedS) ¢o
4. %

Question Number : 85 Question Id : 719650405 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

~
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

A projectile 1s thrown mto air with velocity 15 nv/s at an angle 30° with the horizontal.
After what time its direction of motion is perpendicular to its initial direction?

(Assume g = 10 m/s?)

w8 DEDEI0D 15 mfs Jiadwed” 23205070 B0 Gusned” 30° S WOk POS
DVOTPED. o P50 BT WA AT, VOIBF DS OO LotSNTP a)olddold
(g = 10 m/s” ©3%00t0)
Options :
3 sec
R4

2 sec

0.5 sec

N

1.5 sec
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Correct Marks : 1 Wrong Marks : 0
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A particle 1s projected from the ground with some initial velocity making an angle of
45° with the horizontal. If it reaches a height of 7.5 m above the ground while 1t

travels a horizontal distance of 10m from the point of projection, then the initial speed
of particle 1s

(Assume g =10 m/s?)

AP0 ol WE ZHSD Soth 'O IS0 TSWISTSS BFS” 45° Seaso
J0H0SENP HAHSD IDHL0ESED. S Kk BPBL Dol P8 7.5 m D IOSYE ©O

DED Wothded) Sobs 23e20aSrPoBSSS0rP 10m ErSSn HOLiodol, B & ¥gio IV
5O S6 DS
(g = 10 m/s? 305 H80)

Options :

10 m/s

20 m/s
2

15 mv/s

3 %

25 m/s

Question Number : 87 Question Id : 719650407 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

For a particle executing uniform circular motion

8 EEas50 VEOD BYTTS SOSB0eS” SO Y

Options :

~

T
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velocity 1s transverse, acceleration 1s radial

D555 BIS” TS Polwod, Poeeeg OIS’ BB Potwold

velocity is transverse, acceleration is transverse

D5 IS IS0 aHotol, BG5S BIES BB aHot0old

2R

velocity is radial. acceleration is transverse

D9erg OIS I35, BUgS LIS’ B8eS0 ofotnold
3%

velocity 1s radial, acceleration 1s radial

92Pg E3eS" 3530, @j&%"@ &3S ¢ R0E3a30 0d)olold
4 ®

Question Number : 88 Question Id : 719650408 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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In the pulley system. the mass of ball 1s 1.2 times greater than the mass of the rod.
The length of the rod 1s 50 cm. The ball 1s set on the same level as the lower end of
the rod and then released. What 1s the acceleration of the rod with which it comes
down? Assume the pulleys and threads are massless and friction force 1s neglected.

(Use g = 10 m/s?)

28 By S3a50e5" eoed (355078 & Ol 3078 Kol 1.2 D&Y aHolwol. 86 Féad) 50 cm.
200€> 00K 86 Alng), G0 &SN &S FONS GG W SOOT. YOS & 86
Dots BHIBBSVS SO IMod. EHYL K SHO0K TESWL TRV, ESsTeHen
GRE.0u0t 2005 DoGE WD G oot

(g =10 m/s* TP S5 W)

LT
®
1 2
Options :
4 mv/s
1. #
3m/s
2 Y
2 m/s
3. &
5 m/s
4 &

Question Number : 89 Question Id : 719650409 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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A particle having kinetic energy K is projected at 60° with the horizontal. The kinetic
energy at the highest point 1s

63 98 K 60 a8 50500 SARISTBES0E 60° oty Sosudty HEDSW
WORGENG. ©L05) G 2dotidad) ¢ & Bes tiedes 38 oJoth

Options :
K
], ®
ZE10
O,
2R
K/4
R 4
K/2
4 %
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A bullet of mass 72 1s moving with speed V, hits a sand bag of mass m,. If the speed

of the bullet after passing the sand bag is b | . then the height /2 up to which the bag

3
rises 1s

(Assume g = acceleration due to gravity)

n QS5g0°8 B0 a8 2008 V, 3tieined” DOIREIR mr G300 SO af 80E Do)

Yo rp oo, LA

-

[

P800, i 0D VS, FHS HE Vo oG HOLTHoDS Bo°ge

FE Dod ot e /1 K0 IEK00t00d.
(8 = 508093 E5BERSNTP BIKTTS0)

IHLTEAEEnL !
AV p
Bullet v, Sand Bag
O— 0¥ Hod
my m;

Options :

e 1 [Zml vﬂ\j

-

2g| 3 m,
1. ¢
2m, v,
= —
3 m,
2. % )
1
=
2g
3 %
5 2
2m, v,
h=| ———
3 m,
4, %

Question Number : 91 Question Id : 719650411 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

collegedunia:s

India’s largest Student Review Platform




From a uniform circular disc of radius 2 cm (its centre of mass is at ‘O’) a circular
portion of radius 1 cm is removed such that the shift i centre of mass 1s maximum.
The disc 1s now rotated by an angle 0 about an axis perpendicular to its plane and

passing through ‘O’. If the magnitude of displacement of new centre of mass is

1 :
— cm. then the 6 1s

V3

28 DEOS SYTSS DY CIEy TeEFSID 2 em (T FS50°8 TG ‘07 S P 8). s
DY S0 1 cm PGPS 50 a8 SYTTG FFESND TS T CIE S0
3035500 ORGP DPHSSN Iotothod. & DY BrPOs LRSNF SO0 ‘O’ go°
PGSy, 28 OES0eS* B Smakd IOKOSED St DY HORIEINN Toiood. LoD §'¢

$9s530°8 Soliein OINE). wPIefod HOSI eI L3 cIm 0N B Hesd

J3

Options :

30°
1. ®

45°
7 %

60°
3%

120°
4. ¢
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A ball of mass 2 g released from the top of an iclined plane describes a circular
motion of radius 20 cm 1n the vertical plane upon reaching the bottom. The minimum

height of the inclined plane is:

2 g (g0°8 (30 28 WoBQ &8 70 Go GINE) L &PHSN ol UL WISLONS @b
C0EPHS0 WON0S 20 cm aPgPEED L SYTPPE SPFSNS” L) DS WOA.
@ P o A0S, EA0 D

Options :

20 cm

10 cm

50 cm
3. ¢

60 cm

Question Number : 93 Question Id : 719650413 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A small sphere of radius r 1s placed as a concave surface of radius of curvature R a
little away from the centre. When the sphere 1s released, 1t oscillates. Assumung the

oscillation to be simple harmonic motion, and r << R then the time period 1s

R S5 aPgrOain (0 a8 QErPSPO 60D Ue GInE),. Sofdeddd ok I aIPgPO50 (90 28 D)
TFIND §0& Ar8esS aHodtGdd. (TFSND SHOD ©d SOTrL) AP & COTOD
NEFTPTPH) § OSSP ZPAR) 000K T << R 000 &P GlE), 953 SPLw

Options :

2w E
g

1.V

~

T
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27
28
2.8
3
27 i
3g
3 =
R
27 | —
2g
4 &

Question Number : 94 Question Id : 719650414 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Find the acceleration of our galaxy. due to the nearest comparably sized galaxy. The
approximate mass of each galaxy is 8 x 10! solar masses and they are separated by

2 mullion light-years. Each galaxy has a diameter of 100.000 light years.

. i Nm’
(Assume 1 light year = 10'® m, Gravitational constant G = 10_10{ ; m;_ Jand

kg

mass of sun = 2.0 x 10°° Kg)

DS POYeBS” VOFLY BOS DOSIESN FU PO SOS SO S PP CI0E),

538635005 (SEBordole. SEPANT P FLLo I, $50°8 8 X 10! FBGSzoeHen
500050 S Dot WETPASED 2 O0HS (K6 VELV)TD DoSSNTPL EFGeS S8
SODEIE. DB FOD) IS, dPg0S0 100,000 e DoStyTren.

7 o

Nni“ J::,» :
kg”

(1 0 DosSBy650 = 106 m, K885 D0eEX0 G = 10—10[

FEE850°8 = 2.0 X 10% Kg ©30%00m50)

Options :

X 2
4x1072m/ s*
1. ¢

2x1072m/ s*
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Sx10Pm/ s*

5x102m/s?

Question Number : 95 Question Id : 719650415 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The average depth of an oil well 1s 2000 m. If the bulk modulus of oil is
8 x 10® N/m” and the density of oil is 1500 kg/m>. The fractional compression at the
bottom of the well 1s

(take g=10 m/s?)

w8 S0 (Wows) 270 Ay Hféw St 2000 m. WOWS Suo CIE) WO eadswn
8 x 108 N/m? 00050 @o Foes 1500 kg/m’. ©0wd s dlw), ©Eseisn &
50 DoESINES” E5) S0 (EPHED) oot

(2=10 m/s* S08%E)

Options :

3.75 %

1.75 %

[
i

2.75%

4.75 %
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Consider a steady flow of o1l in a pipeline. The cross-sectional radius of the pipeline

1

- It l s s s ~
decreases gradually as r=re ™ where ¢ =—m™ and x is the distance from the

3

pipeline mlet. If R; 1s the Reynold’s number for a certain pipeline cross-section at a

distance x; meter from the inlet and R, is for distance (x; +3) metre, then the ratio

R]. -
T
2

28 (TOIN P0° ¥ BLo QUEEP DI, I'=re " JPDeED & (T s

$oigBN PGFESD Sethod. BHE a=—m HOOH ¥ GHID T T,
b

OIFPIBI0 $6 B0 BPSSD. VI STBID o6 X, DG BPBS KO & TLSN
By S5 Be K, TS Doy Ri 0005w (1 +3) St &rdess” Ko TS

R
Doty Ry wond R—‘ YD Joth
2
Options :
1
e
1. v
e
28
o)
{’3
3 ®
L
eﬁ
4 ®
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Newton’s law of cooling 1s a special case of

Srgeon BBHOEGE A0S0 St Sobd PEIS” BVS DBgE SEIRTOATNY

Options :

Wien’s displacement law

0‘535;) Pdjod QONSo
| %

Kirchhoff’s law

§O’°g,§2 D00
2. w

Stefan’s law

VPR VOLDo
.

Planck’s law

§°o§ ROV ORGT
4 B
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How much thermal energy is required to change a 40 g ice cube from solid at —10°C
to steam at 110°C .

[Assume latent heat of fusion for water = 80 kcal / kg.

specific heat of water= 1 kcal / kg °C.

specific heat of Ice =0.5 kcal’kg°C |

specific heat of steam =0.48 kcal / kg °C .

latent heat of vaporisation of water= 540 kcal / kg °C ]

—10°C &G 50 40 g S0oedd Dol DIVA Dol 110°C AED Q0P STeGNSCD @old
0do® &Y 48 BSNEI0 V)b
[DE3 G2 (908FQa0 = 80 keal / kg,
OC VBT = 1 kcal / kg °C,
oVoud) DBYR0 =0.5 keal/kg°C,
A &DO0 HBITRS =0.48 keal / kg °C.,
E3 280 (0850 = 540 keal / kg °C]
Options :

29.192 k cal

1.

40.288 k cal
2. %

35.188 k cal
3. =

30.188 k cal
4 ®

Question Number : 99 Question Id : 719650419 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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In the carnot engine when the heat 1s taken from the source. then the temperature of

the source

2 6", OGSV’ 88 B3 wSEo Dol S0 SR (IFR), B &, S

Options :

remaims constant

N IS %Jém ool
1. &
does not remain constant
@éoﬁaor‘i" o)oletd)
2. 3
decreases
@Q}@Oa&
3%
Hcreases
ROV @V L V=TA
4. %

Question Number : 100 Question Id : 719650420 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : (

In an 1deal gas 1f the masses of all molecules are doubled and their speeds are halved,

then the ratio of initial and final pressures of the gas 1s

w8 G0) TPOSNHS ©R) GO AN, WgTPHLN TEol) WOND TP JIPLV B0
LONTOW. BRI & TN CINE), &GS O ©otdy (DX0) VET°L QNS

Options :

A |
. v

B
2 ®

4:1
3 %

collegedunia:s

India’s largest Student Review Platform

~

T




1: 4

Question Number : 101 Question Id : 719650421 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

An engine sounding a whistle of frequency 2000 Hz 1s receding from the stationary
observer at 72 km/h. What is the apparent frequency of the observer? The velocity of

sound 1n air 1s 340 m/s.

28 0NoB50 WA d29a50 GlE), S0 GIuE), FJYJgedn 2000 Hz S8 0o 08 odes
D), w8 VOBVKR ol 72 km/h Jt550ed” TS5 HOWPEINeG. 0D HOILHE I
BTy FeSsa)dgain. PO’ 20 3350 340 m/s P S205"aS.

Options :

1889 Hz

2889 Hz

3889 Hz

4889 Hz

Question Number : 102 Question Id : 719650422 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : (

An object 1s placed at a certain distance left to a convex lens of focal length 20 cm.

Find the distance of the object if the 1image obtained 1s magnified by 4 times.

a8 S0 20 cm ToETgeBSo KO W KooaTTS Eo%oSH eSS S Foth ERSSeS
EoSRIGSR. 25TV DB 4 DS GSGIo JoOB & SK0eg) CIVE, TSI Doty

Options :

~

T

collegedunia:s

India’s largest Student Review Platform



25 cm when the 1mage i1s real

28 VB2oWadn ©awd 25 cm
1.
15 cm when the image 1s real
Q2 VBedoSn ®owd 15 cm
2R
25 cm when the 1image 1s virtual
0BPg VBRoWSD ©OWS 25 cm
3.8
10 cm when the image 1s virtual
E°g Vo200 ©ONS 10 em
4 %

Question Number : 103 Question Id : 719650423 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following statement 1s incorrect?

&8 $o6 EES" 0 DA DO F°E0.

Options :
Dispersion is maximum for violet colour

QG 3G Gotld GINEY. DEDEISN (HORSD

], ®

Red light travels faster than violet light in a medium

OSIPSESNS” W) TPoD QO 570 §old 39S HOIEI WOV
2w

In vacuum red light travel faster than others

RIS B 570 ©R) €S Foll aXdarP HO%IPEs0 WV
3.
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Refractive index of violet light 1s higher in flint glass as compared to crown
glass

QS S 5708 GINE)Y. 58I H0EESD Dol P’ T TPe 5ol B0y S

Question Number : 104 Question Id : 719650424 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Identify the incorrect statement:

&3 §o65 HAWBIVES OGS A o0& 0000l

Options :

the fringe width in a Young’s double slit experiment reduces when the width

between the two slits increases

006 20ty IO HAIPBSVES' Doty OO Sy ISy DEKDMT TS

DB HEE S0 BESD
1. ®
the central fringe observed for in a single slit diffraction experiment 1s a bright
fringe
0ld DO DB5GSS0 PATHSNES” Sogd DEI I 208 LdgeBa% DHE
78

the resolving power of the microscope 1s reciprocal to the maximum
separation of two points seen as distinct

DEFpw gy DK FDFgkn BDIO Tolld 20olDeHOd DYl P
SPEHON 7o) 0855 (0K 0ICioriBo D' SIS’ aobiold

3.V
polarisation phenomenon 1s observed only for transverse waves
(oSESn D ¥ OYNINCDSN  SSwadn S STorroRy  Srtadd
203D o2l

4 8

Question Number : 105 Question Id : 719650425 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

The electrostatic potential inside a charged spherical ball is given by @ =ar” +b.

where 7 1s the distance from the centre and a. b are constant. Then the charge density

mside the ball 1s

( &= Permittivity in free space)

ol GHIPOS FEODH Wed TIK, VS DS FEIALS (Isw) o=ar’+b
‘Hég&)&:é&. aé&{.‘i 7 OB §Oéo§l) Dol (T aDOBLIIE BFrSSD 003w a. b w
QToES0EN. & (TS0 S0 Ko &3¥ Poldes oot

(&= VITPYoBT*Y HOYEIVED)

Options :
| B
2 ¢
= 24 ;’Z'(Ié'ﬂ
3. %
=24 Tagyr
4. 8

Question Number : 106 Question Id : 719650426 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : (
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A thin metallic spherical shell of radius 7 contains a charge O on its surface. A point

charge ¢, 1s placed at the centre of shell and another charge ¢, is placed outside the

shell at a distance x from the centre. Then the forces on charges ¢, and ¢,

respectively are:

1 aPgPOan (L 28 DU ST (T9°5°0 6 T Al &DOBLSD R O WIFSW
0. 28 @) Woldd B350 & 86 To CINEY,. So@adn 5695 0O NTE G, SaIFaioD
& E0)0 SofdE3n Dok e7KPge0rP X GrdesS @f)odd). OND G SO0 ¢, SITO D

e 2oePe) JSOUITP

Options :
1 g 1 q+q,
4fr£a P2 4;’1'30 X2
1. ®
1 ¢ 1 44
2 3 2
4m§u r 4.:*1'.5‘0 X
2.3*
zero, —22 2,,-
dre, X~
o Q':*-_ Q
WJ‘, 5
4re, X
3.8
. O+
Zero. % L 191
4::'30 - il
q +@
0oy, 7, QO _11’1
4re, x
4.

Question Number : 107 Question Id : 719650427 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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There are four bulbs of power 100W, 200W, 500W and 1000W. Among these whose

filament has high resistance?

(Assuming same voltage source)

TR WSO CIo%y Fgegen 100W, 200W, 500W 0050 1000W P $HTey 0.
DS o) 90ehaY) $50% VGBS EO aHotwod.
(oS8 235570 @R %S GES0 @S oE)

Options :
100W bulb
100W &JGSP)
1. v
200W bulb
) B
500W bulb
S00W 2085
3, % a
1000W bulb
1000W &J&se)
4 B

Question Number : 108 Question Id : 719650428 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In a meter bridge two gaps in the metallic strip are connected by 3Q and 9Q
resistors. What should be the value of shunt that needs to be added to 9Q resistor to

shift balancing point by 25 cm?

28 A6 WES" (0 auf ST DES” (0 Totdd PPN 30 OGN 9Q A0S
ZOQT. S AR A VoL Woladd 25 cm IPVJo WPl 9Q

AETPSVS 0do DS KOS Nold AE'GSD Serd.
gcollegedunias

T

Options :



1. ®

350
7 R

45 Q
3. ¢

500
4 %

Question Number : 109 Question Id : 719650429 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

A current I flows 1 a straight wire bent in the shape of a quarter ring of radius R as

shown m figure. The magnetic field induction (B) at pomnt O 1s

DENS” WFOIEW &8 BV BN R aPgrGadn 0 o SO0he &5°8eS’ TP Sotd
230N BB, B Kot o) DS HaLrSw 1. oS O Dotided) $¢5 LADHF) oth

£ 20050 (B) D0 oot

Options :
i |
4R
1. ®
i1
8R
2.
1, I
2R
3 %

~

T

collegedunia:s

India’s largest Student Review Platform



1,1
6 R

Question Number : 110 Question Id : 719650430 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A particle of mass m and charge ¢ 1s moving 1n a cyclotron with magnetic field B. The

frequency of the circular motion of the particle 1s proportional to:

0 REETD S B 035 00HF) oBEBS0S 1 $830°%8 500050 ¢ STESw YIRS au Seadk
SO B BB S K50 CIVE), SYTPE SO0 TNE, FSRISA0 82 §obd TS’ BOS
OIS ST BS ol

Options :
qB
m
1. v
2m
qB
7
mB
B 9
nq
B
4 %

Question Number : 111 Question Id : 719650431 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A bar magnet having magnetic moment M 1s bent as an arc. Its magnetic moment

M ©0HF o P80 (0 &8 KolPOlPP) oD a8 JYBTFDNT Souienledl.
WYY TR WOV o £7°a05a50

Options :

collegedunia:s

India’s largest Student Review Platform

~

T




decreases

5500080
1.v '
mnereases
DE0ERVE
2 %
does not change
TG
3 %
may 1increase or decrease
oV VAN VIS /AL g VNV
4. % :

Question Number : 112 Question Id : 719650432 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The magnetic field at pomt P of given figure due to carrying of current I by a

conductor of radius R. 1s

R 5O SO0 8§ IPErE (0om® H80e Srdtn HEoge I PSarkied. 88 g
S5 P 2otidel) 565 od8 )3 SOKF) 09 FHI0

;R
S
s
---- --I-i—-"'-“

- -
- I r Ya
* i b

-
- -
ﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂ

Options :

1,1

dnr
1. ®
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2nr
I

1l

2nR
3.

1,1

4nR
4 %

Question Number : 113 Question Id : 719650433 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following components of an L—C—R circuit, with an AC supply.

dissipates energy”?

L—C—R &00feeS ;)S"D@C') N f‘?&jﬁ @ﬁ)é@oa DO & 50S0eS @5&5{33‘5)@5 'gé
tb 2T 532065” &l

Options :

only L

| RNV
| B

only R

R &$5°8d
2.

only C

C SorBad
3. %

L and C

L 003n C
4 ®

Question Number : 114 Question Id : 719650434 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Consider a parallel plate capacitor which is maintained at potential 200 V. The
separation distance between the plates of capacitor and the area of plates are 1mm and

20 cm’ respectively. Calculate displacement current in 1 [1s.

| £,=8.85x10™" F/m |

a8 DSTo98 HOTO TFPHOE 200 V FEHOADES (5350) 58 HOD0B. T3 Do i
PGS0 0050 HLEL FFeergen SEOHP Imm 005w 20 cm’. wod 1pus FesS’ Ko
FoSefod D0gS wdots

[£,=8.85x10"2F/m |

Options :
3.5mA
1. ¥
2.5 mA
7 R
1.5mA
3 %
0.5mA
4. %

Question Number : 115 Question Id : 719650435 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The de-Broglie wavelength of the electron in the first Bohr orbit of the hydrogen atom

18

3PS HOSTEWRY) G0, B 256 L gt B0 TS CINE, &~ BBaliDEgS0 &8
806 ¢3S B DSTIS0
Options :

equal to the diameter of the first orbit
SAVATAR S ROVOML IV EONSUINE VRSNV NG

1. %

~

T
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equal to the circumference of the first orbit

J00C3ED $X 5 GBI, Sy HOBS DasreesSn
2.

equal to the half circumference of the first orbit
SWAWVESFTOT VI INATL BeTATUIR Vg N TIINE VSR VUNAGY

mdependent of the size of the first orbit

F0e5E3 ¥y CIVE, HOSER0 D EPEHES
4. %

Question Number : 116 Question Id : 719650436 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In hydrogen spectrum if the shortest wavelength in Balmer series is A . the shortest

wavelength in Bracket series 13

w8 2D DESTENY) STDESNS” PSS FeheS” SIQ STotiBGgasn A wod 75
IS UL BSotIDTge50 oot

Options :

A
1. ®

A

2
2.8

4
3.¢

94
4 ®

Question Number : 117 Question Id : 719650437 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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A radioactive source has a halflife of 6h. A freshly prepared sample of the same
exhibits radioactivity 32 times the permussible safe value. The minimum time after

which 1t would be possible to work safely with the source 1s

w8 OGOIrEROY %o O O3NS FLSN 6h. & JrT® S ©NYEIER YW
GOIPEIR0NEES SPS ©HDBowiends NEEY DS 5ol 32 0L SGAIrePrOy 5B

05025006, OB coth ¥ DD SBEITH 8 23 5ESNES® BEBSNP DD

Options :

30h
1. ¢

24 h

[
¥

18 h

12 h

Question Number : 118 Question Id : 719650438 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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In a Zener regulated power supply a Zener diode with V, = 6 V 1s used for regulation.

The load current 1s 4 mA and the unregulated mput voltage 1s 10 V. To get a Zener

current five times the load current the value of series resistor Rg 1s nearly

X0 A0NeBS STz HIDT> DOSELINS oD SV Vz = 6 V o)) #6
GOPGD TG, 270 A0 e TPYTP 0D DaPraSd 4 mA 00050 0K 50 Vs
ST 10 V. 278 g DarEradd ol 286 DIedraln 5 BEIIP aotold 3ed OGS0

Rs €065 odoth o$)owee)
4 >
R
5 IL
Vi > 2
- i
R, v,
o &
Options :
150 Q
1. ®
167 Q
2. ¢
175 Q
3. %
159 Q
4 ®

Question Number : 119 Question Id : 719650439 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Identify the equivalent logic gate for the following circuit

&1 800 TSGR SO0 TN, HOVSPSTON BS) TPIBIND tHPorsel

A
4

B ——
Options :

AND
1. ®

NOR
7R

OR
3. ¢

NAND
4 %

Question Number : 120 Question Id : 719650440 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The modulation index used m amplitude modulation of a message signal of peak
voltage 10 volts 1s 0.5. By how much the peak voltage of the carrier signal be changed
so as to obtain the modulation index of 0.8, keeping the peak voltage of the message

signal same as before.

28 LDHOND SFCOITRS I, Vot DSBS TIE, BwS S'Tes 10 S'gen SHO0K
BAES® TGS STEITRS P DS 0.5. V0B DodB80 CRVE), 39S S'Tesd S8y K0G,

SEgBRS P 0.8 JVSDH FoBdED TEE VoIBSH GG WO S'Tes ot
ST ASDS.

Options :

~

T
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increase by 7.5V

7.5 V o

| ®
reduce by 7.5V
7.5V &0or
2.4
increase by 12.5V
12.5 V 20O
3%
reduce by 12.5V
125V &éhowrd
4. %

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Display Number Panel :

Group All Questions :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Chemistry
7196509
3
Online
Mandatory
40
40
40
Yes
Yes
Yes
1
7196509
Yes

Question Number : 121 Question Id : 719650441 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

uestion Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Q \ g p p

Correct Marks : 1 Wrong Marks : 0

Which sets of the d- orbitals are directly oriented towards the ligands in octahedral

coordination compounds?

UFTES VIS0 DTTrOS ) @ d-w0yErSen OrreGen Sy OFH Sdxr

&olIPON

Options :
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| % #
d22 and d},z
d_, ook d,,
2. ® 23
d,,and d_,
d,, S0k dx}r
3. 3
d cand d ,
X< —y* zé
d, . ook d .,
X% —-y* z
4.9

Question Number : 122 Question Id : 719650442 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What 1s the total number of electrons present in one mole of ethane?

a8 IS SBIS'R Swtho DOFINL Dolg

Options :

6.022x10%
| ®

10.022x10%
7R

108.4x10%3
3. v
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1.084%10%

Question Number : 123 Question Id : 719650443 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following atoms 1s the most electronegative?

800 DESTERHOS” g 00068 DEFEPEYED ZOASE DB?

Options :
O
1. ®
F
2. v
N
38
Cl
4 %

Question Number : 124 Question Id : 719650444 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What 1s the effect of lanthanoid contraction i lanthanoid series of elements with

increasing atomic number?

HOSTED Doy VONFR, LrodSE DFrOFOS rodSE W8S DEFSe o) DESNWCrT
SIAVETA

Options :

Decreases 1n atomic radi

DBSTERD TFgPGo SRR
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Increases 1 atomuic radi

0GST%ED aPgPdo AN
2, % *
Decreases i melting point
AIANDE-H g R VI ALTA
3%
Increases 1 melting point
2SS &AL DO
4 %

Question Number : 125 Question Id : 719650445 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Find out the hybridisations of C!. C* and C® labelled carbon atoms in the given

¥ 2 3
molecule H—-C=C-

|
(-}'.JJ
|

1
H-C=C-

DEATPEDH Cﬁ.‘l)gz,. chgf)g@@“ﬁ}l (0ol

Options :
c g
Sp sz
1. ®
! c*
Sp sp°
2 ¢
Bl (5
Sp Sp
3 %

=C=CH,

C3

Sp2

C3
sp

CS
sp

~

T

CH, wee)s® Janed 300206 C!, C? 00050 CP © 3¢ P80
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sp’ sp’ sp’

Question Number : 126 Question Id : 719650446 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Increasing order of dipole moment of following compounds

&8 S0l BXAES VY FIPL AT BIENS &8N DO Eddo

CH, Cl Cl Cl
CL ﬁ:‘:r
Cl
Cl
(1) (i1) (1ii) (iv)

Options :

(1v) < (1) < (1) < (111)

. v
(1) < (1) < (1i1) < (11)
(1v) < (111) < (1) < (1)
3w
(1) < () < (1) < (1)
4. %

Question Number : 127 Question Id : 719650447 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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The rates of diffusion of SO, CO», PCl; and SOs3 are 1n the following order

SOz, CO2, PCl3 20050 SO3 AlwE), 900 Sew & £30085" adotIeawn.

Options :

CO; > S0, > PCls > SO3

PCl3 > SO3> SO2> CO»

2.8
SO;>S0O;>PCl3 > CO»

3.
COy > SO, > SO3> PCls

4.

Question Number : 128 Question Id : 719650448 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The mass percentage composition of dry air at the sea level 1s approximately
N2 :63 %, Oz : 16 %, Kr : 21 %. If the total pressure i1s P atm, calculate the partial
pressure of each component respectively are

(Molecular weights N> : 28. 0> : 32, Kr : 84)

KJé.‘Dé oﬁ)@o &’}C:S FEPO Cﬁl)§a. oIS ééﬁif"’% TS0 PPAT N2 :63 %, 01 : 16 %,
Kr : 21 %. 3o HGcdo P atm 0008, 03 e:0D0E0550 0wy, ardE o G0 .
(evea0eroren No - 28, 02 : 32, Kr: 84)

Options :

2.25Patm. 0.5 P atm and 0.25 P atm
2.25 P atm. 0.5 P atm 0050 0.25 P atm

~
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0.75Patm. 0.17 P atm and 0.08 P atm
0.75 P atm. 0.17 P atm 50050 0.08 P atm

2. ®
0.63Patm.0.16 Patm and 0.21 P atm
0.63 Patm. 0.16 P atm 06a3» 0.21 P atm
1 B
0.5Patm. 0.3 Patmand 0.2 P atm
0.5 Patm. 0.3 P atm 20030 0.2 P atm
4 ®

Question Number : 129 Question Id : 719650449 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

How many grams of Cu(NO; ), 1s needed to get 1 gram of copper?

(atomic mass Cu=63.5, N=14, O = 16)

I o) 52900 FothotoBd o), (PSw Cu(NO; ), ©8508?
(D087 $850°8 Cu=63.5, N=14,0=16)

Options :

1.00
1. ®

2.00
7 ®

1.95
38

2.9
4.

Question Number : 130 Question Id : 719650450 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

~
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Which of the following statements is not true about atomic mass?

HOSED (553078 (00D &t §ob PS50’ 2O Do SU?

Options :

The atomic mass of an element is expressed relative to e 1sotope of carbon.

a8 SXPLSo GRS, HOSTED $S530°8 U By, 12C DWESDIS FdErP DenTE

| &
Atomic mass of Na 1s 23.
VG0 DOSroER Qadg0°% 23’

7 R
The atomic mass of an atom 1s obtained by taking sum of atomic masses of
different 1sotopes of the element.
w8 rOSAS Dotolodd VW WYL g VIS PdgordHw o &
Sre8e GI0E). DTSTPED Qe3gTPBP DO iEdodeacidol.

3.
Atomic mass used for an element is the average atomic mass obtained by taking
into account the natural abundance of different i1sotopes of that element.
w8 ArO%o AlE), DO Wg0PEV, & POTIS Dotlo@odd 0P P DO
DV L AE), i DBSTED GeS30°8R DOBHREVS BR0E™V W o 28000l

4 ®

Question Number : 131 Question Id : 719650451 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following 1s not an extensive property?

&8 $00 ToEIES" O DPBed GBS0 TP
Options :
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Volume

VIOV
| ®
Entropy
2JofS'®
7 B
Heat capacity at constant volume
G QVIDOTEde 56 GRTWTES
3.8 )
Molar heat capacity at constant pressure
8 HiicSo 3¢5 PO &N°SEs
4. ¢

Question Number : 132 Question Id : 719650452 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
If the equulibrium constant for the reaction 2SO> + 0> = 2S0s 1s 64 at 500 K. then

the equilibrium constant for the reaction SO3 = SO» + - O, at the same temperature

—

18

500 K, &5 3% 2502+ 02 5 2503 85 sy, DSEPRSD J0°oo 64 ©ONSD o

&GS 3¢ SO3 5 SO» + % 02 53 TG, DSV H06o Do

Options :

8

oo | —

2
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64

Question Number : 133 Question Id : 719650453 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is the pH of a 10~ M solution of HCI?

10~ M HCl graeso Ging) pH oth?
Options :

7.1

] ®
8.0
5.8

38
6.9

4.9

Question Number : 134 Question Id : 719650454 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Match the following methods for treating hardness of water with their corresponding

reagents used

St $o0 DAV SO 230SND HE WSS TE oG Do2ood® 5°88eed” 22BDGSote

List-I
D -1

A) Treatment with washing soda

TP Weeeed” W03 280o

B) Calgon’s method
U0 DD

C) Clark’s method
SO, g

D) Zeolite / Permutit process

2RO [ S DS

The correct match is
DOADS 22
Options :
A B
II I III AY

®
-

2.

List-II
DES-11
I) Ca(OH);

IT) NaxCOs3

I1T) NaAlSiO4

IV) NagPsO1s

gcollegedunias
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Question Number : 135 Question Id : 719650455 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The product D in the following reaction sequence is

8 8ol SB0%0 BB DBE G913y 0 D 2B?

S8 DO)O
Na,CO, SO, ok Na,CO, B ele111e111taltsultu1‘ C L D
1ea
H,O 38
Options :
Nax$203
1. ®
NaxSOs3
Na»S405
3, v
NaHCO;
4 %

Question Number : 136 Question Id : 719650456 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Hybridization of boron 1n diborane 1s

GeS'BRS” 25070 CE) De¥08ese

Options :
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Sp

| ®
2
Sp
2 =
sp’
3 o
3
spd
4. %

Question Number : 137 Question Id : 719630457 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which one of the following statements about allotropes of carbon is incorrect?

PN Ay EraPotITT K000 &8 §obd TPSPIOES” 2B HDE S .

Options :
Graphite 1s an electrical conductor but the conductivity 1s direction dependent

P8 & adugé TT°Eo 570 I EG IS0 HTE00

1. ®
Diamond 1s more dense than graphite
Gaddots TPRET S0l 0¥ Wod® BL (BYEIR )
28
Diamond 1s metastable
GeoS00Gs QBVBF0IE
3, ®
Graphite 1s thermodynamically less stable allotrope of carbon
PR QISP B8y &5 VG0 SN PG 0 TSy Srareddo
4, ¢

Question Number : 138 Question Id : 719650458 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

~

T
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Which among the following is not the components of photochemical smog?

88 §o0 TS’ 2B S0 GFOHS Ft800usd BT, BL0ESD T

Options :
NO,
| %
Formaldehyde
FoYOTG
28
SO,
3.V
0,
4 ®

Question Number : 139 Question Id : 719650459 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

How many geometrical 1somers are possible for the compound with molecular

formula CoFCIBrI?

©tarE e CoFCIBIT a0 #ord Pdgeoly E WEyPgen o) ?

Options :
Four
TR0
1. ®
Five
0/AY
2. %
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Six

(XTo})
3.9
Eight
NV A
4. %

Question Number : 140 Question Id : 719650460 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

2-bromopentane 1s heated with potassium ethoxide m ethanol. The major product 1s

FETSES" 2- B AFDBID TR0 FETFYES* I DASE DEYE DTS &Y 0 20
Options :
frans-pent-2-ene
Erdy =Rl -2-85
R4
2-ethoxypentane

2"&@“&)3}0{55

2. %
pent-1-ene
Wofd-1- S8
3w
3-ethoxypentane
3 '@@333)0@35
4 ®

Question Number : 141 Question Id : 719650461 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Reaction of 2-methylbuta-1, 3-diene with O3 and Zn-H>O. gives

2-036 arglr -1, 3-365 03 HO0K Zn-Hr0es* 585508, 8 8R0S0

CH3;COCH; + 2C0O21

CH3COCHO + 2ZHCHO
2.

CH3COCHO + 2HCO;H

CH;COH + 3HCOH

Question Number : 142 Question Id : 719630462 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If the distance between Na  and Cl™ ions in sodium chloride crystal is Y’ pm. The

length of the edge of the unit cell will be

PEODD $TE 0E%eS” Na™ 000kn Cl eolrdu Sy drde Y’ pm. ofrded S
C00E). Wocdd Féal) ot ?

Options :
4Y pm
1. ®
2Y pm
2.
I pm
4
3, ®

gcollegedunias

T



‘S:?

Question Number : 143 Question Id : 719650463 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Correct order of osmotic pressure of the following solutions 1s
(1) 30 gm L7! of glucose

(i) 60 gm L™ of NH,CONH:

(ii1) 80 gm L' of glucose

(iv) 58.5 gm L™ of NaCl

9 So) 2GS TPETPL CINE), (eTPa00Es TP OGN Sado
(1) 30gmL7 o §rs'E

(i) 60 gmL'e NH,CONH,

(i) 80gmL™' o $r§E

(iv) 585gmL'e NaCl

Options :

(if) < (i) < (iii) < (iv)

1. ®
(1) < (111) < (11) < (1)
2.«
(1) < () < (1) < (1)
3 ®
(111) < (1) < (1v) < (1)
4, ®

Question Number : 144 Question Id : 719650464 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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The osmotic pressure of 0.1 M monobasic acid of pH 3 at 27 °C1s

27°C &5 55 0.1 M S TE @350 Gy, pH 3 ©0wd STaiodes Hikdo adots

Options :
2.42 atm
2.42 Q(‘:JD&
1. ¢
242 4 atm
2424 c)dJ"&
7R
60.6 atm
60.6 oDd:P&
3. %
50.9 atm
50.9 a:Jéch
4, %

Question Number : 145 Question Id : 719650465 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which one of the following has the highest molar conductivity?

88 800 IS 2O O5OE FPeS FHFEBD ENNGel?

Options :

Penta carbonyl mron(0)

Dot 576 N3O 26 (0)
| %
Hexaqua-chromium (III) bromide
TBNESY — §anoke (1) e P&
2. %
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Tetraamine-dichloro-cobalt (IIT) chlornde

SEPANS- GEE — e (1) §0&

potassium hexacyanoferrate (II)
SFEIPR0N0 352Y00S VO (1)

4. &

Question Number : 146 Question Id : 719650466 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

For a reaction A — B, the average energies of A and B are 30 and 60 kcal/mol

respectively. Energy of the activation for the backward reaction i1s 93 kcal/mol. The

energy of activation for the forward reaction 1s

a8 035 A —» B, A 0050 B © 00700 FFoen S0P 30 S00akw 60 keal/mol. S8

5055 ), &Besed ¥ 93 keal/mol . ©OVB HEED SBg TIE, &Beses 3§ Doeh ?

Options :

30 kcal/mol

1. 3

123 kcal/mol
2 &

153 kcal/mol
1.8

90 kcal/mol
4, #

Question Number : 147 Question Id : 719650467 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
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Which of the following reaction 1s auto catalytic?

$o> SB35 DB DN G 1ISEIIE?
Options :

AlCl,

C,H.COCl + CH, » C,H,COCH, + HCI + AlCI,

4NH, + 50, —PL 5 4NO + 6H,0

“R.hClt PPh; | |
CH,=CH, +H, —. 2l 5CH, -CH,

5C,0,” + 2MnO, + 16H" — 10CO, + 2Mn** + 8H,0

Question Number : 148 Question Id : 719650468 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Why 1ron pyrite 1s not the 1deal choice of ore for the extraction of iron?
00 DX Bea%0 0GR PO TEY) WoddE VIR (BREI0IE) 5760, 2dotoB0?

Options :

It produces polluting gases

SRR TPABNHVD & YB W
1.¢
Thermodynamically not fessible
&3 (AP Pldge P
7R

~

T
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Highly stable

@@50@ i)éoﬁ“ &olold

3 ®
Difficult in roasting process
NCINVRATALL R

4. B

Question Number : 149 Question Id : 719650469 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Mixture of concentrated HC1 and HNO3 made m 3:1 ratio contains

e HC1 500050 HNO3 3:1 9%3y8e8" 3056065 ogise $ORSH

Options :
ClO»
| B
NOCI
2.
NCl;
3 ®
N>Oy4
4. %

Question Number : 150 Question Id : 719650470 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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In the following reaction. products x and y respectively, are

P,+10SO,Cl, > x+y

&1 800 BB, GHYT®) D X SO0 Y SERF , 2D
P,+10S0O,Cl, > x+y

Options :
PCls and S>Cl
PCl; 56aw S2Ch
| B
PCls and SO;
PCls5 50050 SO3
7 ®
PCls and SO»
PCls5 6050 SO»
3. v
PCls and S>Cl
PCls 256050 SoCl
4 ®

Question Number : 151 Question Id : 719650471 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In the octahedral crystal field, the correct order of splitting in Cr** complexes for
I, H O, NH3z and CN™ 13

e 0385 oS’ I, Hr0, NH; 500050 CN™ Grrebo) Cr' Da¢¥ore Defesde
RISV

L

& oG

f

Options :
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CN'<NH3<HO <I

|, ®

NH:<HO<I <CN™
2.33

CN <] <HxO <NHs
’;Iﬁ'ﬁ

I <HO<NH3;<CN™
4.

Question Number : 152 Question Id : 719650472 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The coordination number and oxidation state of Cr in K,;[Crx(C,0,);| are

respectively

K,[Cr(C,0,);] & Cr ciwg) 0505305 Doty So0050 e8y88e 1S SErr

Options :

3and 3
3 005w 3

3and 0
S00aiw 0

vy

[
¥

6 and 3

6 005w 3
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4 and 2
4 6050 2

Question Number : 153 Question Id : 719650473 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Match the following

List I

A) Natural rubber

B) PVC

C) Terylene

D) Syndiotactic polymer

©8 500 AR BBDGNG
08--I
A) dres Geoydo
B) 2 (PVC)

C) &9

D) 2oGOIrerdss FO5G

The correct match 1s

OGS 2289
Options :
A B k2
I II I
1. %
A B &

II1 II AY

v

List-11I

I) Free radical polymerization
IT) Side cham alternative arrangement
IIT) cis—Polyisoprene

IV) Condensation polymerization

88K - 11
D) D3Iy TAOOE FOZOESEo

) P63 SYoWO PEPgS) O 508
) 45— FORFRS

IV) 008058 arOS0088es0
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IV II I 1

Question Number : 154 Question Id : 719650474 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Starch, when boiled with dilute sulphuric acid under high pressure, gives compound
A. On prolonged heating with hydroiodic acid, A gives compound B. What is the

compound B?

PO\ OOF HiiSo 5§ DS DLr05 Wehoes® F& DAY A O DayFSoDd
YD, ‘A’ & PEOAFES Wadoed” Y FOZP 3G BAISYNW B’ 03 e edo
008, B’ & D3¢0 2d0¢s?

Options :

| ¢
HO-CH, — (CHOH), —-CHO
2.8
HOOC —(CHOH), —COOH
1%
HO-CH, - (CHOH), - COOH
4 ®

Question Number : 155 Question Id : 719650475 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks :
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The dipeptide given below 1s used as

&8 $00 FSIES BIDE 0 DP EDCAPEIED

fr

8]
HO OMe
N
H
O NH, o)
Options :
Detergent
&@goes
| ®
Preservative
DOOE Sl P
2 o

Sweetening agent

e35PGE0
3.¢
Antioxidant (Drug)
&550¢e8 OG'So (S00td)
4, %

Question Number : 156 Question Id : 719650476 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which one among the following will undergoes faster Sx! reaction?
&8 800 TE3S" O SN! I3e SIBP e olnold

Options :
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o
|, ®
Br
Sh
Br
e
CH;
HiC Br
TQ
R 4

Question Number : 157 Question Id : 719650477 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Major product mn the following reaction sequence 1s

&3 $o6 DSDVS SEZOS" V% OF (HTS) &53) 0 DB?

OH (1) NaOH(aq), CH;lI

o
(11) Anhyd. AlCl;, CH3CH, COCl
¥eld)
7

(1i1) NaBH,

Options :
OCH,;
CH,
HO

LW
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H,CO OH

2%
OCH;
OH
- CH;
OCH, ol
CH;
4 B

Question Number : 158 Question Id : 719650478 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Among the followimg reagents, which one can converts ester mnto aldehyde?

88 806 SPEFOES O wINES WOTFETP S8y

Options :
AlH (1-Bu),
1. 3
Sn + HCI
28

H, / Pd. BaSOq4
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Question Number : 159 Question Id : 719650479 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The correct set of reagents which convert acetylene to but-2-enal are

806 DS @) SPEFL DB VOIS gl5-2- ST°STT STPEHRFPON?

Options :
H,SO,.NaOH
1. ®
H,0/Hg” /H™, dil. NaOH
()
2. ¢

H,O/H", conc.NaOH
(&)

H,0. KMnO, /OH"

Question Number : 160 Question Id : 719650480 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which one among the following statements 1s true?

& S0 P’ DB VOGNSR

Options :
Aliphatic diazonium salts are stable.

WDOPES Ged" V0% LSEPeD AP &olPow
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Aniline cannot be converted into phenol via its diazonium salt.

G5 00K0 O350 TPYT® WVOR, TSP SeEek

Aliphatic diazonium salts liberate nitrogen gas quantitatively.

QVOPESS Gl 00 LSEPED DOSTEREY P B DN WFPOw

3¢

Aniline cannot be converted mto fluorobenzene via its diazonmm salt.

Go8" V0D VSIS0 T°J0° WDAOR, FT&oeéP SI*GS
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